

05/06/2022 08:00 AM | Dazian to Install Drape 05/07/2022 06:00 AM | Full Furniture & Detail Delivery 05/07/2022 06:00 PM | Event Date 05/07/2022 11:58 PM | Strike All PO: Shipping Address: Hillcrest Country Club Dazian to Drape Ryan's Team to install Furniture Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Addition					
	Sofas - Ibiza - Middle 8' 8'W x 46"L x 30"H	1	\$200.00	Т	\$200.00
	LAs Vegas Coffee Table - Mirror Rectangle with full decal covering coffee table; cost does not include decal or application 48"W x 24"L x 18"H	1	\$250.00	T	\$250.00
	Ottomans - Standard Pod white suede 18"RND x 17"H - Cover Color Upon Request	2	\$45.00	Т	\$90.00
回	Dj Front - Boston - Wood & Mirror Front leave as is and send shelf or table for DJ equipment 70" X 4' X 48" H - Custom Color Upon Request	1	\$450.00	T	\$450.00
	Dining Chairs - Frankfurt - Off White Channeled Boucle 25âN N W23âN N X34âN N H 25âN N W23âN N X34âN N H	2	\$25.00	T	\$50.00
			Total Addition		\$1,040.00
Drape - Dazian t	to Will Call				
	Perimeter Drape - Entrance Hallway White Chiffon with Backing	1	\$4,500.00	Т	\$4,500.00
	Perimeter Valance - Entrance White Dupioni	1	\$950.00	Т	\$950.00
	Perimeter Drape - Main Dining Room white chiffon with backing	1	\$9,750.00	Т	\$9,750.00
	Perimeter Valance - Main Room White Dupioni	1	\$1,800.00	T	\$1,800.00
	30'W Drape - The Grill white chiffon with backing	1	\$250.00	Т	\$250.00
	30' Valance - The Grill	1	\$80.00	Т	\$80.00

Description		Qtty	Price		Total
Outside Furnitur	re				
	Props - Inflatable Gummy Bears (Multi Colors) with 10' of fishing line attached to each; to hang from the main tent ceiling, creating a ceiling treatment 6- Red - 6 - Green - 5 yellow- 5 Blue - 6 Purple -7 Pink	35	\$20.00	Т	\$700.00
	NEW - Inflatable Gummy Bear (Multi Colors) with 10' of fishing line attached to each; to hang from the main tent ceiling, creating a ceiling treatment	20	\$40.00	Т	\$800.00
and the second of the second o	Gumball Bar - Base Painted Pink 10"W x 30'L x 41"H 10"W x 30'L x 41"H	1	\$2,150.00	Т	\$2,150.00
	New York Bar 8'L - Flat Front Base painted white; with hand painted designs 8'W x 30"L x 42"H - Color Change Upon Request	1	\$1,250.00	Т	\$1,250.00
	New York Bar 6'L - Flat Front Base painted white; with hand painted designs 6'W x 31"L x 42"H - Color Change Upon Request	4	\$1,025.00	Т	\$4,100.00
	Boston Round Barback - Painted Black 4'2"D x 7'2"H - Color Upon Request	1	\$350.00	Т	\$350.00
	Monaco Sofa 10'L - White 10'3"W x 34"L x 33"h	5	\$550.00	Т	\$2,750.00
	Monaco Right Arm Section 10'L - White 10'3"W x 34"L x 33"H	3	\$550.00	Т	\$1,650.00
	Monaco Left Arm Section 10'L - White	3	\$550.00	Т	\$1,650.00
	Las Vegas Coffee Table 4'x2' - Mirror With Decal completely covering all sides to resemble a candy box; cost does not include decal or application 48"W x 24"L x 18"H	7	\$250.00	Т	\$1,750.00
	Dubai Coffee Table - Multi Dimension Painted bright blue, pink, orange, green 44"W x 23"L x 17"H	4	\$275.00	Т	\$1,100.00
	Monaco Top Hat 8'D - White 8' Diam	1	\$750.00	Т	\$750.00
	Accent Table - Dubai - White Painted bright blue, pink, orange, green 18"W x 18"L x 23"H	10	\$125.00	T	\$1,250.00
	Ottoman Pod 18"D All White suede and linen 18"RND x 17"H - Cover Color Upon Request	46	\$45.00	T	\$2,070.00

Description		Qtty	Price		Total
	Accent Pillows - Assorted bright colors - Similar to gumballs	80	\$24.00	T	\$1,920.00
	Shelves - Cubbie Painted bright blue, pink, orange, green 58"W x 16"L x 58"H - 13" X 13" X 16" FOR EACH CUBE - Custom Color Upon Request	5	\$275.00	Т	\$1,375.00
	Store Front Facade 20'W - White with orange awning and detials in pink, green, blue	1	\$5,500.00	Т	\$5,500.00
	Tuscany Dining Table 8x48" - white for the merch store 8'W x 48"L x 30"H	1	\$500.00	T	\$500.00
	Wardrobe Rack & Shelving Painted bright blue, pink, orange, green	4	\$550.00	Т	\$2,200.00
	Nantucket Barback - Wood Large for candy display Painted pink 5' x 18" x 5' H - Custom Color Upon Request	2	\$275.00	T	\$550.00
الدا ال	Chocolate Drip Table - Chocolate Color 12'L x 30" W x 30"H	1	\$950.00	Т	\$950.00
		To	Total Outside Furniture		\$35,315.00
Inside Furniture					
	Ibiza Left Arm Section - White 67" x 44" x 29"h	2	\$200.00	Т	\$400.00
	Ibiza Right Arm Section - White 67" x 44" x 29"h	2	\$200.00	Т	\$400.00
BOOST	Coffee Tables - Shoe Box With Decal completely covering all sides to resemble a candy box; cost does not include decal or application 49"W x 25"L x 18"H	4	\$250.00	Т	\$1,000.00
	Ibiza Middle Sofa 6'L - White 6'W x 42"L x 30"H	4	\$350.00	Т	\$1,400.00
60	Miami Coffee Tables - Double Loop Painted bright blue, pink, orange, green 47"W x 18"L x 18"H	4	\$225.00	Т	\$900.00
	Accent Pillows bright colors - Similar to gumballs	24	\$25.00	Т	\$600.00
	Ottoman Pod 18"D all white suede or linen 18"RND x 17"H - Cover Color Upon Request	14	\$45.00	T	\$630.00
			Total Inside Furniture		\$5,330.00
			iotai inside Furnii	lure	\$5,550.00

Description	Qtty	Price	Total
Installers: Install Saturday	10	\$650.00	\$6,500.00
Installers: Strike Saturday Night	12	\$550.00	\$6,600.00
Trucking: 24'L	3	\$550.00	\$1,650.00
Manager: Onsite for (1) Days	1	\$650.00	\$650.00
Manager: Layout	1	\$850.00	\$850.00
Certificates: Flame Proofing	1	\$950.00	\$950.00
Supplies: Misc	1	\$1,250.00	\$1,250.00
Custom Art Work: Hand Painted Details	1	\$3,250.00	\$3,250.00
Please make checks payable to Revelry, Inc.		Total Products:	\$59,015.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc: Wear & Tear (0%):		\$21,700.00 \$0.00 \$0.00 \$0.00
Please ready the contract and sign it			
N.A.			
Notes	Taxes (tax excempt):		
		Discounts:	(\$0.00)
		Total:	\$80,715.00
		Payments:	(\$80,715.00)
		Balance:	\$0.00